You exalnmed ;the perlmetel._, T
and coinp051te shapes _1nclud' '

rnany formulas in thls chapter, 0'be sur to mc[ude them 111‘ your topxc sum.tnary along with
approprlate dlagrams and examples" oo : S e :

_Make a summqry of this top1c Use the- outlme at the start of thIS chapter as a gu]d .
An incompléte mind map is shown belofﬁ_ Use your own wotds, Symbols, d1agr1ms boxes
and remmders Gam i Whole plcture vlew of the tOPIC and 1dent1fy any weak area
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Convert:

g 285kmtom ' b 64twke € 340ml toL.

9 and 10.
syre complex -
surveys and thy
[ have a good:

5 Tarmer Joe’s dam, holds 43 ML of water, H'ow many kilolitres does it hold?

The width of a room is measured as 3.66 m. Find:
~a the absolute error of this measurement
b the limits of accuracy of this measurement
taras, boxes ¢ the percentage. error; correct to two decimal places.
areas.

o

White each value correct to two significant figures.

a 38915 b 1036 ¢ 0.00872 d 6587200

A bank has $8 350 000 000 in its vault. Write this value in scientific notation.

Acellis 4.6 X 107 mm in diameter. Write this in normal decimal notation.

" Calculate the perimeter of each shape (correct to two decimal places for shape €).

a 8400 mm? to cm? b 56hato Iﬁz.

Caleulate the area of each shape (correct to two significant figures for shape c).
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10 For this sector, calculate correct to one decimal place; W6 em
¢ its perimeter
b itsarea.

11 Felix completed an offset survey on a field, PORST, and recorded the

entries on the right in his notebook Draw a diagram of the fieldand g 16
caleulate its area: . o]
a  inm’ . b inha 25
0
: P
12 Convert: : ,
a 207 cm® to mm? b 1650000 cm? tom®,

13 For each closed solid find, correct to two significant figures:

i the volume ii  the surface area

3 b . ) . 4Bem

15 cm

~— 8 cm —»>

14 a How many millilitres will a contalner of volume 894 cm? hold?
b How many litres will a container of volume 6.5 m® hold?

15 This water tank has the shape of a cylinder. Find correct
to twe significant figures:

a  its volume in cubic metres

! b its capacity in litres.

16 Find the area of this field, correct to the nearest square
metre, usmg

o one application of the trapezoidal rule G
b two applications of the trapezoidal rule. b1 m—sfe—1Tm—H
Which answer is more accurate? Wiy? :

e
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7 Blocks of concrete are used in the construction of a sports 29m
stadium. One of the blocks is shown in the diagram. Calculate, 90 em
correct to one decimal place:

1.1m

a  its surface area b its volume.

13m

Ay
k161 52 8 A large stainless steel cylinder for storing wine is 7 m high and has a diameter of 2.8 m.
Q 10| 32 How many full 750 mL bottles of wine can be filled from this container?
241135 . .
0 © Rosemary is having a party and decides to make an ‘ice
. bow!’ to hold punch. She freezes water in the space

between two hemispherical bowls of diameter 16 cm
and 22 cm, Find, correct to two decimal places:

g the volume of ice used to make the bowl

b how many litres of punch the ice bowl will hold.

[~ 16 em -

20 a Find the volume of the barn
shown,

b Ifthe barn is to be painted and one litre of
paint covers 14 m?, how much paint
(rounded up to the nearest whole litre) do
you need to put two coats on the barn?

10 cm

&1 the volume of the loaf

b the length of crust on one slice of bread. Choper
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Sgmple H Cprobem.
a 0. to 2075 m
gﬁ: 242% IU ﬂ i

Test yourself 5

1 a 28500
2 43000

3 a 20.005
¢ 0.14%

b 6400 ¢ 034

b 3655mt03.665m

a 19 b 1000 c 0.0087
d 6600000
8.35 % 10° 6 0.0000046
o 40m b 3l6cm € 55.00cm
a 84 cm? b 56000m
a 44m? b 1040’ ¢ 230 e?
a 120.1 cm b 646.3 cm?
a 810m? b 0.081 ha
R._16_ S
T
0 20
Q"_ES
|
77T
24
P
12 a 20700 mm? b i.65m’

13 a i 750cm’ il 480 em?
b i 0.22m°0r220000cn’
il 3.2 m® or 32 000 cm?
14 a 394 mL b 6500L
15 a 81m’ b s100L
16 a 110m’ b 187 m’
¢ 187 m? is more accurate, because by using
two applications we use more trapezimms to
approximate the area more accurately,
17 a 89m’ b 14w’
18 57470
19 a 171531 e’ b 1071,
20 a 20400’ b 26L
21 a 4700 o’ b 52em
Chupier 6
SkillCheck
T a 225 b 4050
2 143 /L
3 o 84mm b 96m ¢ 3L
d 2.61kI, e 5200L f 11 min
4 $466.24
5 90 days
& $4.58
7 a $5.18 b 13 min
Exercise 6.01
1 a §110.19 b $314.46
2B
3 a 21days b quarterly
¢ water and sewerage service, $142.75
d 18kL
€ No, in cooler months fewer showers, warer
garden less
f similar usage so can compare savings made

9 0r30+8+31

=

n O‘_'

for conditions

18 000 = 204.545... = 205 L.

$2.115/ 11, i 18x2.115=$38,07
$84.60
$50.76 b 154kL < $306.84
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